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Note » Attempt any Jive gquestions, All questions carry
equal inarks.

fay What do You undzrstand i ‘Structured
_ngramming’ ? Explain the meaning and
relevance of various consrrucis used for
structured Programming,

bt What s meant by "Program ftyle” ? Whay
are the importan; features of 4 good program
style 7 Give practical examples,

2 &) Whajs Anuimber system 7 Which number system
is followed in digital computers and why?
(b)Y Find out the values of X, Y and 7 in the
foltowing -
(65,875)m = {X!: = {‘{}s i {Z.)m

3. (@) What is a digtal computer ? Explain it anatomy
and working of the s$ame through its bjock
diagram,

(5 What is meant by a Characier Code ? Name two
character codes and differentiage between the
Same.
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by Problem

Solving

Discuss the various stages in

solving State the

i e 1T
@ compuier

chart in problem solving on a

compuler.

What is an algorithm 7 Outhine the important

characterisi.vs of a reasonably good algonithm
Write an aigorithm for finding out the HCF of

two g@iven mteger numbers and also draw the

flowchan [o. the same.

Write a program in C to reverse the digits of a
given integer number N and to check whcthe‘r
given integer number N is a Palindrome or not
Write a recursive function with onc integer
parameter ‘hat returns the factorial of its

parameter,

Explain the syntax of Switch construct with its
rules. Illustrate.
Compare and contrast do-while() and while()

constructs in C
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Discuss ratieter passing

mechanisms theiwr relative merits and

Jdemerits.

What are command-line arguments 7 IHusuate

their use th

suitable examples

What makes C a system programming
language ? Justify your answer

hat is meant by ‘Data Type” 7 List the various
data-types supported by C language and briefly
explain cvery data-lype by giving suitable
examples.
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